1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
N

1071

0.5

7000 GeV pp W+Jet
L L L L e = )
- ) ] %
- Pruned jet mass(CA(0.8), 2300<p_<450, |y|<2.5) 1z
B 3

o

I _ 1M
— =Nl
— o
~ ks
.. —

- B oo
. m %&\ mlo
=

- w, _|&
B 1z
--¥-- Pythia 6.427 352 %

— A Pythia 6.427 353 —©
—  --0-- Pythia 6.427 354 el
— --2-- Pythia 6.427 355 - ;
[ - Pythia 6.427 356 1%
Pythia 6.427 357 <

— Pythia 6.427 358 EE
— = Pythia 6.427 359 38
B 1 wn
B 1o
o

| 1 O

| | | | | | | | | | | | | | | E
:l T T T | T T T T | T T T T |:
— —2
v =
B \@\ ]

\\» x 1
L —0.5

L . WL |

0 150

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


